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Problem 4.4: A point charge q is situat
force of attraction between them.
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ed a large distance r from a neutral atom of polarizability a. Fing the




Problem 4.5: In Fig. 4.6, p; and p; are (

perfect) dipoles a distance r apart. What is the torque on p; due to p,?
What is the torque on p, due to p;? [

In each case, I want the torque on the dipole about its own center. If it
bothers you that the answers are not equal and opposite, see Prob. 4.29.]
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Problem 4.8 Show that the interaction energy of two dipoles separated by a displacement r is
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Problem 4.12: Calculate the potential of a uniformly polarized sphere (Ex. 4.2) directly from Eq. 4.9
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Problem 4.14: When you polarize a neutral

fact should be reflected in the
charge vanishes.

bound charge

dielectric, the charge moves 3 bit, but the total remains zero. This
S Oy and py,. Prove from Egs. 4.11 and 4.12 that the total bound



